
 ����� ��	�
 

����� ���	
� �
������:��� ��� ��	
)2(��������  �	��:��������	
��� ��������:8���  ���	
� ��
:90����� 

 �������� ��� � ���                                       : � ��	
 !"�
# ��� $�� ���	
� %���&:11/03/ 1398 ��'(���)&:2 

� � ��"�
# *�����"# ��+,-�� ��./ ����� �� �0�� ����� ��  !�"1398              *12� 3/�
��"�
# �4'4/ *��5 �  
http://aee.medu.ir  

6���  �
���   )g =10      3 =π   ( =�>� 
 

١ 
 

1  �42/ �5 ?��2
 ��>,/ �0 �� �@�� A�B�C.  

6@� ( �� ��
" �E�� �� =�� =��>45 �F�G
 .....................�2���     .  

H (=�I�I �� �>� ��1�� A�44J& ��4� ���K
 �0�L A�B  �@� ���.....................��4� �
 M�� ���.  

N (0 OGC �# � ��� ���� �>GC �0 ����4� �/ �&��( ���
 ��#�� �/�E �  O4��� ............��� �	F�� ��1��. 

5/1  

2   �0��0 H�S T� A�� =��� �J4& �L� M�� �/ �&��( ��5/1 �
 �	4'4/ �S A���� =�� =��� U � ���0 �	>4,4
 V���0  

6@� (    T� �C��            H ( �C��2                      N ( �C��3                        � ( �C��4   
5/0  

3  �>G& $�- �+���
 A��0 �K�"�X A�B  �C��� � I A�C �0 YA�(d) �L�
 � I Ym(d ) �
 �+���
 �� O42/ .  Z�[0�
 � 0��

 �0m(d ) V��� ���/  

6@� (md d c= −2                                                            H (m
R r

d
A

−−         

N (md d c= +2                                                               � (md A (R r)= − −2 2   

5/0  

4    $��[)
 \�0 �]+� "� �# =�� �	F�� ���& �/ A��&�
��	]@� ��
����P kw=1 4    �# =�"�[0 ���[& �P k=2 3   Y�[��0

V��� ��KS  

6@� (3/1                                H (75/0                            N (8/0                          � (9/0   

5/0  

5  )
 ���0 ���� �0 "�4� Y��
 �	a& b2C "� �&�) I !�0 A��0 $��60�
 �4��L �0 �	
 ���0 .    =�d	[�� ��� ���[)& �[��

=��  ���5000 V���0 �	��� ���0 A� I �S ��� =�� �J4& Y���0 �K4I� �0 ���  
5/1  

6   ��� ���)& �0 A��� 6/ =�d	��6000  �K4I� �0 ��� A���� �4 ��� ��C�
 �J4& ��� .�� ��/ ��+.45 ���� ���12  �	


 �K4I� �0����# ���0 �� �J4& �B !�0 ���K
 YO42/ ��4	��.  
1  

7   �/��
 =��� e�S ��� ���)&150 ������ ���)& � �K4I� �0 ���  �# A�B20 ��� ��� . f��	
 e�S ��� ���)& ���250 

������ ���)& Y���0 �"
 �K4I� �� ��� ����# ���0 �� �# A�B.  
1  

8  
 ��/ ��0 ��C �/ ����# ���0 �� A�0
�0 =�� ��1�� ���& � �]4��]200  �# g>E ��'&�� � ����,4/4  ��1�� ��
" � �	


���0 �K4I� T� ��/.  

  

2  

»�
���A��'( �� �
������ A«  

مرکز سنجش و پایش کیفیت آموزشی






 

 

مرکز سنجش و پایش کیفیت آموزشی






 

 

مرکز سنجش و پایش کیفیت آموزشی






 



 ����� ��	�
 

����� ���	
� �
������:��� ��� ��	
)2(��������  �	��:��������	
��� ��������:8���  ���	
� ��
:90����� 

 �������� ��� � ���                                       : � ��	
 !"�
# ��� $�� ���	
� %���&:11/03/ 1398 ��'(���)&:2 

� � ��"�
# *�����"# ��+,-�� ��./ ����� �� �0�� ����� ��  !�"1398              *12� 3/�
��"�
# �4'4/ *��5 �  
http://aee.medu.ir  

6���  �
���   )g =10      3 =π   ( =�>� 
 

٢ 
 

9   ��C �0 A��0150 �
 �� ����,4/ =��� �0
�0 �0 �G��0  � �0�L =�I�I T� A���� �/ A�2     
�[0 �� �[�� f�[�	
 =�I�I

O��+0 .V��� ���� =�d	�� �0 ���0 ����4� �S gI��E �42/ �+���
 
5/1  

10  H�S =��� �	a& ���� =�4./ � =�4S ?&�
 OB A�� ���0 �4@�& "� �)0 �B .   \�� T[� ��[C ���60    ?��[j � ����[,4/

 ��]� $�E �� f�] (�5/0 �0�C � ��4./ A��0 �� �"
 A��4� Y���0 ����# ���0 �� \�� T� ���/ �C.  
1  

11   H��2	
 ����C ��&�
��	]@� �/ �� �����C ��� �42/ H�GE3 �
 �]+� "� "�F   �# =�[� HkC ���& �/ �&��( �� ��4�

6  ���& ?��j � ��� �,4/cos /φ =0 8  �# � � l�	@� �380 ���0 �@�.  
5/1  

12  m�� \�0 �]+� "� �0�S n��2( =����/ T� �� �
 =��'	�� ���� ���:  

-  =�d	�� T�MDF  ���& �0 �p0kw4  q��	
 ��- �0 �/8 �
 ��/ "�� �� ���� �2/.  

-  ���& �0 �I�0 g��� ��� ��500 q��	
 ��- �0 �/ ��� 4 �
 ��/ "�� �� ���� �2/.  

- 10  r�s
 O/ t

 ���50  �/ ���8 �
 m��� "�� �� ���� ���.  

 =�
 T� ��
 A��0 �� =����/ m�� �F�s
 \�0 A��0 ��� H�, 
)26 A��/ "�� (     ��� �[,4/ �[B A�[�0 �[/ �&��( ��

 \�0 ����500  ���B�
 f��	�� � $���000/100 ���0 $���. 

5/3  

13   ��1�� ��
" ���� A��0 �� ��/100 �
 ��/ �0 �) I ��
" �/ �&��( �� �42/ �+���
 �� ���   �[0 �) I T� ���� A�B

��� u�� m��:  

- 34�1& �,(� ��
" :12                                      �K4I�- ��/ ��1�� �,(� ��
" :8 �K4I�  

- ��/ ��1�� ���F ��
" :8                           �K4I�        - 3C ��
"v34�1& � :3 �K4I�  

- w3C ��
" :5 �K4I�  

5/2  

14  !�� �,/ ���'& !�� �0 O4K	G
 =�B�.
 A�B ��
" �� �+4/�& A�B V�G4S �12�  1  

15   $�
�� ��
" m44)& �� Y ��],>� ?��j�
 m44)& A��� �S O/ �,4� ���� A��0 V���  5/0  

=�>� n>C  20  

�4��0 xF�
.  

  

مرکز سنجش و پایش کیفیت آموزشی






 

 

مرکز سنجش و پایش کیفیت آموزشی






 

 

مرکز سنجش و پایش کیفیت آموزشی






 



����� ��	�
 

��������� 
���
 �������� ����� ���� : ��� �����	
)2 (��������  ���� :���� � ��� �����  �� � !"�
: 8��� 

�#
$�� %&$�' ($
 )�
 ������ *����:11 / 03 /1398   ��+,��-.�:2 

��&' ��/01��� � ��&$�' 2��� �$34  
� 
  ��� �!  "#"$% &�
 '�� 1398  25�
 64 � ��&$�' !�+�4 2��7 �  
http://aee.medu.ir  

8��� ����� ������� 9 �� 
  

١ 
 

1  !" 
- !�<- ��4      ) (�-4  �5/0 9 ��( 5/1  

2  !
� ���, C ���6D .  5/0  

3  !
� ���, 8G� ���6D.  5/0  

4  !
� ���, I ���6D.  5/0  

5                                          
( / ) V

V d. .n d ( / )
.n

π
π

= → =0 25
0 25  n

min
= 1
5000  

                                         d / m cm ( / )= = =
×
3600

0 24 24 0 5

3 5000

                                                            d ?=  

                                     
m m

V ( / )
s min

= × =60 60 3600 0 5  

5/1  

6  
s

a ( / )
n.z

a / ( / )

×=

×= =
×

1000
0 5

12 1000
0 5 0 5

6000 4

                      

n
min

z

m
s

min
a ?

=

=

=

=

1
6000

4

12

  

1  

7  n z
( / )

n z

z
z ( / )

=

= ⇒ =

1 1

2 2

2

2

0 5

150
12 0 5

250 20

                              

n

z

n

z ?

=
=
=
=

1

1

2

2

150

20

250
  

1  

8  
w F.S ( / )

w N.m ( / )

w N.m
P ( / ) P / ( / )

t s

=
= × =

= → = =

0 25

2000 4 8000 0 5

8000
0 25 133 3 0 5

60

                

F kg N ( / )

s m

t min s ( / )

w ?

p ?

= × =
=
= × =
=

=

200 10 2000 0 25

4

1 60 60 0 25  

2  

9  G
(n )

F
F ( / )−=

1
0 5

2

               GF kg N ( / )= × =150 10 1500 0 25   

( )
F N ( / )−= = =

3 1

1500 1500
375 0 75

42

  

5/1  

10  s sF N. ( / )µ= 0 25                GN F N ( / )= = × =60 10 600 0 25  

sF / N ( / )= × =600 0 5 300 0 5  

1  

»�������+, �� ����� ������� � (��«  



����� ��	�
 

��������� 
���
 �������� ����� ���� : ��� �����	
)2 (��������  ���� :���� � ��� �����  �� � !"�
: 8��� 

�#
$�� %&$�' ($
 )�
 ������ *����:11 / 03 /1398   ��+,��-.�:2 

��&' ��/01��� � ��&$�' 2��� �$34  
� 
  ��� �!  "#"$% &�
 '�� 1398  25�
 64 � ��&$�' !�+�4 2��7 �  
http://aee.medu.ir  

8��� ����� ������� 9 �� 
  

٢ 
 

11  P u.I.cos ( / )

I / A ( / )
/

φ= ×

= =
× ×

3 0 5

6000
11 6 0 5

3 380 0 8

                    

I ?

P kw w ( / )

cos /

u

φ

=
= × =

=
=

6 1000 6000 0 5

0 8

380

  

5/1  

12  P kw

t h ( / )

w p t kwh

=
 = × =
 = × = × =

1

1

1 1 1

4

8 26 208 0 75

4 208 832

 MDF  P  

P w kw

t h ( / )

w p t kwh

= × = =
 = × =
 = × = × =

2

2

2 2 2

2 500 1000 1

4 26 104 0 75

1 104 104

 �Q P R���  

p w / kw

t h ( / )

w p t / kwh

= × = =
 = × =
 = × = × =

3

3

3 3 3

10 50 500 0 5

8 26 208 0 75

208 0 5 104

 �������  

)75/0           (W w w w kwh= + + = + + =
1 2 3

832 104 104 1040  

)5/0       ( )���/ /= × + =1040 500 100 000 620 000 �S �� T P ���P  

5/3  

13  g n h g

e g v e

a e a

r rg rv r

r a

t t t t min ( / )

t t t t min ( / )

t n.t t min ( / )

t t t t min ( / )

T t t T min ( / )

= + → = + =

= + → = + =

= → = × =
= + → = + =

= + → = + =

8 8 16 0 5

16 5 21 0 5

100 21 2100 0 5

12 3 15 0 5

2100 15 2115 0 5

  

5/2  

14  %�� �� �' (�5�� U�V �� ��4 �-�� (60�W� X�Y�W� 9-��3� ��� -��P .%�� �� ���   ��Z�& �Z/�4 � ���    ��-ZP �5�Z


�� (�5�� ��4 9-��3� � �D.  

1  

15   �-"50 5/0  

9 �� [�<  20 

!
� \]�, ( ��� ����^��  _� T���� �������.  


	f980311-8
	f980311-8



